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Seat Number: -
Time : 3IIrs.

Notes : AII questions are compulsory.

Q.r.

A.

B.

cl.

Attempt any two of the following

Iixplain the reasons fbr low national income in India? (CO 1) (U)

Discuss the lndian poverty Alleviation program? (CO1) (U/A)

Suggest a solution to eliminate regional disparities in India. (col) (AN)

Q.2.

A.

B.

cl.

Q.3. Attempt any hvo of the lbllowing

A. Explain start up India program in detail? (CO1) (U/A)

U. Explain the problems in micro and small and medium enterprises? (CO1) (U/A)

C. Explain the problems in micro, small and medium enterprises'/ (COZ) (LJ/A)

Marks : 100

20

Attcmpt any two of the following Z0

Explain the role of agriculture sector in economic development in India? (CO 1) (U)

Explain the need for Food security in India by stating what is fbod security? (CO1) (R/U/A)

Explain the reqLrirements of agricultural finance in India? (CO1) ( AN)

Q.4.

A.

B

C.

Attempt any trvo of the following

Explain the importance of service sectors in India? (CO1) (R )

llxplairr tl're perfbnnance of service sector in 12thfive year plan? (CO3) (U/A)

fix;rlain tire Industrial policy of 1948 Z (CO3) (U/A)

Short Notes. (An1, Two)

Inclustrial policy of 1991 (CO3) (R/U/A)

Skill Inclia (CO1) (U/A)

Organic Irarming (COl) (U/A)

Micro-Finance in Inclia. (CO1) (UiA)
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gq - qoo

ta-3(RI
gq-{T - qd r$ ffi 3T[.rwfr

q.?. €Toioi-'d ftMfi dq rrq q]'sq-r

e{) "nmr+fo {dq sr1.r 3Te/T 3Tttulfr qrd tvq f,{I? (col) (u)

q) *n1drfr-o qrRfl Fdea mrffi =rqf +_{I? (Col) (u/A)

zr) rmarfi-o qRRTq; EE-q-dT gq q-{uqT€TA sqTq gqfl ? (CO1) (AN)

q.R sreto-i-*t frmfi tq qvq +s-dT R o

e+) qtcrfro qfi qJ:]ER- 3TTfarfi ffi<, 1ft-6 {q€ 6{r' (co1) (u)

q_) effiarp.rT r€u..G fl-zT? e *-ruq ,{RTrfr-o 3rq-s.oa-a-fr 3Trzpq-m-il qE o,'?
(co1) (R/u/A)

q) .r-n-{nTq'}i qfi fr1d $qaq-r'fi 3fl-ryq-+-dl g'q ft-{i? (ClO1) ( AN)

Ro

Ro

Ro

Qo

q.tr urotoq-*i ftm,fi qt{ qrq +sEr

er) '€rf e]q iBqr 6-rfq-s' qrq.{ q-r$-fr wq s-{t? (col) (tJlA)

q)gqq,o-FJqqLqqg<q]qq:fioq..q€qlqEs-{r?(Co1)(U/A)

ffi) sqq., 
.-:.] q lT,tqq 3-{fu} q-6.cq qqg qi-<r? (Co2) (U/A)

s.Y urcffifrt frM'fr ia qqq q]-sdT

e+) qncrfio t-el qW- qdc-€' Eq's +-{i? (col)(R)

q) E.,.rcqr q-q-flffis a-qid-o +qT qM e;TqFr--a- <a€ o{r? (co3) (t-J/A)

6) ?. o\yz ;lT 3ffiFrfi q}-{ur Etfrs q;-{ ? (co3) (u/A)

q.q Eq ftr6r (*mE1 +{)

?, ) 1o, tt a 3ffiFr6 'tn"-{or 
(CO3) (R/UiA)

I ) mtue cTrrd (co3) (u/A)

?) €Gq ffi (col) (ti/A)

t) qrrrrfro gm frcos{q-dl (col) (u/A)


